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YMHOXEHWE MHOTO4JIEHA

HA OQHOMNEH

TIpeobpasyiiTe BhIpaskeHUe B MHOTOYJIEH CTAHAAPTHOIO BUAA:
26.1. a) 2x(x* + 5x + 3); B) 3y(y* — 3y — 4);

6) —2xy(x* + 2xy - y?); r) —=5mn(m® + 3m?n — n%).
26.2. a) x%)%(x + y); B) —c3d¥(c? - d);

6) —p°¢*(p* + 3pg — ¢*); 1) F82(r + 2rs — 8°%).
26.3. a) 3x(x + y) - 32% B) 5e(c? — d?) - 5c%

6) 7a(a — b) — Ta% r) 10m(m® + n®) — 10m®.

026.4. a) 3x(x — 5) — Sx(x + 3); B) 2a(a — b) + 2b(a + b);

6) 2y(x — y) + y(8y - 2x); 1) 3p(8¢c + 1) — 8¢(3p - 5).

026.5. YnpocTuTe BHIDAXKEHUE U HAWAUTE €T0 3HAYEHHe:
a) 5x(2x - 3) - 2,5x(4x — 2) npu x ,01;

6) 12(2 - p) + 29p — 9(p + 1) upu p g

B) 5a(a® ~ 4a) - 4a(a® - 5a) npu a = —3;
4

©)3@3d - 1)+ 7(2d + 1) upud = 255.





